Geometry B Name K \'7/\/

Ch. 8 Review - Polygons & Circles Date

Find the measure of each angle indicated.
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Find the measure of one interior angle in each Igglgggpgly_ggn. Round your answer to the

nearest tenth if necessary.
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Find the measure of one exterior ahgle in each regular polygon. Round your answer to the

nearest fenth if necessary.
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Find the interior angle@z@iy)r each polygon. Round your answer to the nearest tenth if

necessary,
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11) regular 18-gon

12) regular 23-gon
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Find the area of each figure. Round your answer to the nearest tenth. -
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Find the area of each. Use your calculator's value of =. Round your answer to the nearest
tenth.
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* Find the circumference of each circle. Use your calculator's value of 7. Round your answer to
the nearest tenth.
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Find the length of each are. Round your answers to the nearest tenth.
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FEind the area of each sector. Round your answers to the nearest tenth.
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Use ratlos for side length, perimeter, and area to answer the fo]lowmg ii€stions. )
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22) Rectangle ABCDhas a per1meter of 1200 em and a snmlar rectangle EFGH, has a peﬁmetér of
1600 cm. What is the area of rectangle EFGH is the area of ABCD is 50000 cm??
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23) Two trapezoids have areas of 12 fi* and 32 ft%. If the smaller trapezoid has a height of 3 ft, what
is the height of the larger trapezoid?




* 'Given the similar figures below, answer the following questions.

24. Find the area of the larger shape.

[A= 440 cm? ]

10 cm

/Ar (IG) 440
7oHOcm al

N

40 cm -

Lo 267 42
Pees =Y = (&>

25, Find the perimeter of the larger shape.
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26. Find the area of the smaller shape.

P= 1728 ft
A = 9360ft?




* " solve for the given variable. Show all work.
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